2La) 1) coordinates of yertices ¢
(C,"3) and (0,5)

1) Coordinotes of {oci g
(0,-4) and (0,N)

n'il') ajor %S nor IS
ﬁl O umts fTL o umts

V) iCLuOJFIOﬁ:
%% i
a 5

b) ') coordinates of verhceSae
(*“‘1,0) and (H)O)

1) coordinatres of ‘?C:C(g

(-35,0) and (35,C)

i) Maior AXIS inor AXIS
‘ rrl' 8 units rq' M umts
V) I\'J_Jc&mﬁbng

2(1 -+ 2 :i
(H)n. (%?1 B

;L
-



C) 1) coordinates of VerthceSs
(0,"3) and (g,3)

1) Coordinates of Hoci @
0,2) and (0,2)

i) Maor Axes nor XIS
| NIJGD units fYL M oumts .

iv) E’/ct_xﬁﬂor\ M

2 = 4
T+ ¥

Da) %-ipnts=>"Nand M
6-in+5=>"-3 and 3

E&u&hon e X: +

('-l:)n' C )2' ou Can think of
_’X:‘:' §- 2= 4 t%ur aahon
[/ \ll‘if: Hhis )
o A%IS 1S 8and rizontal
‘YEU cPANs 1s N e
.J_F Za=% TF
Z 2
a=4 b=2
Ei;huc;'hono L + _al_—
X gre 1
M)* (X))



@) One vertex 1s (-M,0); MiNor AXiS1S 2

_L:F one vertex 1S (-9 O) Ry ‘S}Olbw‘S +hat+the
Other vertex 1S (*4) 9% ot the

L (TE.JQ:- Cﬂ(tS s 8

Lloloo

d) l’flgjor ax1s 18 10 and vs vertical
(‘L or aX1S 1S o -

I-F mMajor C;'xus s 10 ¢

L)%_

TE cwnor Gx1s 1S & 2
b=6

n
b=3
Since maior axis 1svechcal ¢

2

2
Gy 5%' 1
X2z + =4
s






	Page 1
	Page 2
	Page 3
	Page 4

